

08/29/2019

**Vendor Ranking** 

Page 1 of 1

 Letting:
 03190808
 August 08, 2019 02:00 PM
 Call Order: 004
 Contract:
 E3S87

 District:
 District 3
 Counties:
 DIST/ST-WIDE, WALTON
 Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42214327262 (\*)

Contract Desc: PONCE DE LEON MAINTENANCE - GABIONS SR 8

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	RBM CONTRACTING SERVICES, LLC	Responsive	Winning bid	\$490,682.50	100.00%
2	CDM CONTRACTING, INC.	Responsive	Non-Winning Bid	\$533,465.72	108.72%
3	NORTH FLORIDA CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$857,675.00	174.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





#### **Tabulation of Bids**

Page 1 of 3

Letting:03190808August 08, 2019Call Order:004Contract:E3S87District:District 3Counties:DIST/ST-WIDE, WALTONFed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 42214327262 (\*)

Contract Descr: PONCE DE LEON MAINTENANCE - GABIONS SR 8

The Improvements within this Site-Specific Contract consist of the installation of Gabion Mattresses for ditch and slope refurbishment for designated locations, along State Road 8 (Interstate 10) Westbound between Mile Marker 89 (Milepost 21.994) west to Mile Marker 86 (Milepost 18.974) in Walton County. Spoil material removed from ditches may be relocated to FDOT storage pit in Argyle, as directed by the Engineer. All Maintenance of Traffic, Mobilization, and Regular Excavation shall be paid for as incidental to the price of Gabion Mattresses.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) RBM CONTRACTING SERVICES, LLC		(2) CDM CONTRACTING, INC.		(3) NORTH FLORIDA CONSTRUCTION, INC.	
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
	0104 10 3 NT BARRIER		300.000 LF	4.00000	1,200.00	1.66000	498.00	5.00000	1,500.00
	0120 2 2 V EXCAVATIO E	ON, TRUCK	400.000 CY	16.00000	6,400.00	15.84000	6,336.00	50.00000	20,000.00
FLOWAB	0121 70 2 LE FILL, MAI .CTS ONLY	NTENANCE	1.000 CY	200.00000	200.00	208.32000	208.32	1,000.00000	1,000.00
	0530 5 1 UP TO 1 FO	OT THICKNES	4,900.000 S SY	85.00000	416,500.00	101.00000	494,900.00	163.00000	798,700.00
	0570 1 2 MANCE TUR	F, SOD	1,115.000 SY	5.50000	6,132.50	3.96000	4,415.40	5.00000	5,575.00
	E110 2 IG & GRUBBI	ING	0.700 AC	25,000.00000	17,500.00	19,440.00000	13,608.00	12,000.00000	8,400.00



08/29/2019

# **Tabulation of Bids**

Page 2 of 3

Letting	g:	03190808	August 08, 201	9 Ca	II Order: 004		Contract:	E3S87	
Line No / Item ID Alternate Quantity Item Description Units				(1) RBM CONTRACTING SERVICES, LLC		(2) CDM CONTRACTING, INC.		(3) NORTH FLORIDA CONSTRUCTION, INC.	
( ) indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION:	0001	SODDING (SY)		_				
0035 SHOULI	E577 70 DER REWOR	RK	4,500.000 SY	9.50000	42,750.00	3.00000	13,500.00	5.00000	22,500.00
0001 SODDING (SY) Section Totals:					\$490,682.50		\$533,465.72		\$857,675.00
Contract Grand Totals:					\$490,682.50		\$533,465.72		857,675.00



08/29/2019

### **Tabulation of Bids**

Page 3 of 3

**Letting:** 03190808

August 08, 2019

Call Order: 004

Contract:

E3S87

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.